AP R RENFET 5 (RI5) B 5 B #

SF5FE1A118 (KkEER)
Bz ENSEHA %K 2049 b
(s L E BB ESE)
A o HFEHE ke) FiE oS Ty
a—k A i &8 #YFE | HExtEE | Efike) R E(F) BiEm) R{E(F)
130100{72 L0 A B 26,423
130100{72 1L\ Z A R 1,106 1,100[ 10 1,080 324
130100{72 L0 A wE 11,780 11,780] 10 1,566 324
130100{72 1L\ Z A S5 13,092 11,232] 12 1,296 540
130340(31CA LA B 17,070
130340(31cA LA s 890 890 10
130340(31cA LA R 15,980 15,980 10 1,750 648
130400| 1% 5 B 586
130400| 21 5 e 460 460| 10 2,700 1,566
130400| 1% 5 o] 90 90| 10 2,484 1,944
130600{ 1A = A B 1,645
130600{ 1A = A L 160 0 160 5 2,160 972
1306001 A = A i 1,365 ol 1365 5 3,672 864
13110018 3% be 21,022
131100| &3 e o] 5,387 o| 5252] 13 756 648
131100|f %2 4] 600 0 600 15
131100|f 32 s 7,835 o| 7835 13 972 756
131100|f %2 e 3,300 ol 3300 12 972 756
131100| &3 R 1,500 ol 1500 15 648 540
131700(F v XY be 17,197
131700(% + ~ v B4 7,710 ol 599 10 1,350 734
131700(% + ~ RE 8,987 ol 7997 15 1,048 1,037
131700(% + ~ v e 500 300[ 10
131800(1F 5 N A E B 1,679




131800]IF > A E 5 65 0 65 0.2 205 130
131800(Ix > NMAE 5B 249 180 69 0.2 194 140 119
131800]IF > A E wE 600 0 600 4 3,348 1,188
131800(Ix > NAE =1 630 0 630 0.18 151 140
131910(Fh & ¥ 1,292

131910|F R & KER 15 0 15| 0.045 63 62
131910(Fh & BE 59 0 56 0.5 302 265
131910|F R & i 1L 355 125 230 1 648 1,296 756
131910(Fh & &I 354 0 354 10 2,916 2,430
131910|F R & i 325 0 325 10 2,808

131950(BA & ¥ 8,286

131950|H A& KB 398 308 3 1,944 648
131950(BA & BER 1,500 1,290 3 1,944 648
131950|H A& BERE 336 336 3 1,134 1,080
133400|L % & ¥ 13,650

133400 L % X FfE 7,150 0 4,700 10 3,996 1,944
133400|L % & wE 2,850 0 1,500 10 3,888 1,404
133400 L % X RI& 3,650 0 2,100 10 3,013 1,458
134100|8A/K ¥ 13,455

134100|8A/M h¥= 1,990 0 1,340 5 2,376 1,296
134100(#A/X = A 950 0 600 5 2,160 1,620
134100 (#&A K REAR 585 0 585 5 1,620
134100|8A/X = 8,490 0 5,310 5 2,376 1,534
134200|m X ToE 2,110

134200|F /M XF 3 2,110 0 2,110 10 3,240 2,916
134300(71F ToE 4,081

134300|50F wE 472 10 392 2 1,080 1,080 486
134300(71F AN 3,299 2,793 0.3 108 86
134300|50F 1& [ 310 265 4 1,620 1,512
134400| k< b ¥ 2,558




134400 b~ b REA 2,518 2,518 4 1,620 864
134500 &' —~ >~ ¥ 5,725

134500 "=~ ~ = Al 675 666| 0.15 108 86
134500 &' —~ >~ = I 4,635 4,241 0.13 103 86
135100 WA F A ¥ 100

135100| W A LT A = 50 50 2 4,536 3,672
135100 WA F A BRS 10 10 2 3,564
136100(AA L & ¥ 25,525

1361001 A L & wE 4,450 4,440 5 2,268 432
136100(AA L & R 5,380 5,380 5 2,160 864
1361001 A L & = I 1,000 1,000 913

136200|E 5% TeE 570

136200| %5 R 570 570 10 1,247

136210( X —7 1 > ¥ 4,250

136210( A =7 1 ~ R 4,250 4,250 5 1,296 432
136300|2F ToE 2,930

136300|8F EiE 2,830 2,790 10 3,780 1,566
136300|2F FE 100 100 10 2,106
136600|7- & ¥ 30,730

136600|7z & Jtime 22,880 22,880 20 2,398 1,671
136600|7- A & BE 7,680 5,680 10 2,592 1,728
136600|7z & REAR 130 130 10 3,240
138100|& L Wiz lF ¥ 2,521

138100(& L W /o lF KB 100 100 0.1 97 86
138100|& L Wiz lF wE 1,993 1,843 0.2 346 86
138500| L& LE ¥ 1,500

138500| L& LE K% 1,497 951 0.2 90 83
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ey _ HFE R ke) 1% #YFE ]
a—Fk A R A8 gyF | Exmel | Buke | SEE | wEe | e | se | e | zem)
240400 BEEINAD A |FEL 850
240400(REBMNA D A IE 850 0 850 10 4,266 2,916
240700 E@EM AN A |FER 37,327
240700 @RI A D A FMFRWL 18,082 0 15,172 10 4,212 1,296
240700 @3RN A D A ey = 1,420 1,100 0 10 3,456 972
2407008 BN A A =i 7,885 0 7,052 10 3,240 1,728
240700 (& @R & h A Bz 7,780 0 2,780 10 2,376 972
241300 7% be 900
241300 (7% Bz 900 0 620 10 2,376 1,728
241390(IFA DA be 2,340
241390(IFA DA Bz 2,340 0 1,530 10 2,376 1,080
241481|F ok bne 1,662
2414817 3R v ML 945 0 580 5 3,996 3,240
242830(.5\C W AT be 1,130
242830|.5CW AT F7& 1,130 0 1,130 10 3,024 1,512
243610|=H 1 & B 345
243610| BB M & 12 345 0 245 5 2,376 2,160
246000({\ b & be 6,107
246000\ b & HE 8 0 0| 0.25
246000({\ b & = 233 0 147 0.3 540
246000\ b & 12 1,598 0 1,019 0.27 810 270
2460001\ b & RI%G 1,282 0 1,231 0.25 486 270
246000\ b & e 2,530 0 1,546 0.25 486 292
246000({\ b & = I 386 0 356 0.25 400 270




247100 7 — 2 X 0Oy |8 187
2471007 —IL X XA v = 170 34 136 8.6 15,120 10,800 19,440 12,960
2471007 —x X o> =40 17 17 0 8.5 4,968 3,240




